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General Instructions :

Read t
(1)

(i)
(iii)
(iv)

(v)

(vi)
(vit)

(viii)

(ix)

he following instructions very carefully and strictly follow them :

This question paper contains 38 questions. All questions are compulsory.

This question paper is divided into five Sections - A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and

questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

65/4/1

oo g o g

(a) x=1,y=2 b)) x=2,y=1
(c) x=1, y=-1 d x=3,y=2
b -b
The product { ab a} [z a ] is equal to :
S _
(a) a“+b 2O , (b) (a+b)2 0
0 a“+b (a+by? 0
C o o _
a“+b“ 0 a 0
«© _a2+b2 O:| @ 0 b}
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3. AATH T g R MM AZ=AR, A AT+A%-3A TR R :
(a) I (b) A
(c) 2A (d 3I

4. A A=[1 2 3] B, T YR AA' B (ST&T A’ MR A &1 UNEd 8)

1 0 O
(a) 14 (b) 0 2 0
0O 0 3
1 2 3
(c) 2 3 1 @ [14]
3 1 2
X+y y+z z+X
5. zZ X y HAM B :
1 1 1
(@ 0 b 1
() xX+y+z d 2x+y+2z)

6. %od fix) = | x|

(a) B SE 9dd 9 ATk 3 |
(b) hal i Tdd I FIHHT Tl 7 |
(¢) T g TAd 7, Wrg x = 0 hl BISHL AT T T8 FThelH1T 7 |

(d) & I8 ¥ad 7, g ATHa-T hal Wi T 7 |

7. ﬁy:sinz(x?’)%,?ﬁj—yw%:
X

3 3

(a) 2 sin x3 cos x°3 (b) 3x3 sin x3 cos x

(¢) 6x2 sin x3 cos x° (d) 2x2sin2 (x3)
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If A is a square matrix and A% = A, then (I + A)2 —3Aisequal to:

(a) I (b)
(c) 2A (d)

A

31

If a matrix A = [1 2 3], then the matrix AA’ (where A’ is the transpose

of A)is:
(a) 14 (b)
1 2 3
(c) 2 31 (d)
3 1 2
X+y y+z zZ+X
The value of | z X y |is
1 1 1
(a) 0 (b)
(¢) X+y+2z (d)

The function f(x) = |x]| is

1 00
0 2 0
0 0 3
[14]

1
2x+y+z)

(a)  continuous and differentiable everywhere.

(b) continuous and differentiable nowhere.

(c) continuous everywhere, but differentiable everywhere except at x = 0.

(d)  continuous everywhere, but differentiable nowhere.

If y = sin? (x3), then j_y is equal to :
X

(a) 2 sin x3 cos x3 (b)

3

(e) 6x2 sin x3 cos x° (d)

~ N~ Pag eb

3x3 sin x3

2x2 sin? (x3)

CoOS X
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10.

11.

12.

Ie5l°gx dx SR 2

5 6
X X
— +C b — +C
(a) E + (b) 5 +
(¢) 5x4 + C d 6x°+C

Ifg jSdex =8%,?‘ﬁ‘a’<‘ﬂqﬂ%:
0

(a) 2 (b) 4
(¢) 8 (d 10

3Tt THIR x 3—1 — y=2x? %I 5 L & T TR O B :

(a) e (b)
(c) X (d)

e X
1
X

s (dz_yf{d_yf:xsm(d_y) A

dx2 dx dx
ShHRI: % :
(@ 2,2 () 1,3
c 2,3 (@) 2,97d aiTia &t

afew 45 — sk 1 fewn o v wwe AW R
(a) %(4f_312)

(b) %(4? _3f)

(©) %(4? _3k)
@ @t sk
J5
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10.

11.

12.

65/4/1

je5 logx 4x is equal to :

5 6
X X
— +C b — +C
(a) : + (b) 5 +
(¢) 5x4 + C d 6x°+C

a
If J‘ 3x2 dx = 8, then the value of ‘a’is :
0

(a) 2 (b) 4
(c) 8 (d) 10
The integrating factor for solving the differential
X 3_3(7 —y= 2x? is :
(a) e (b) eX
1
(e x d -
X

equation

The order and degree (if defined) of the differential equation,

2
2 3
(d_y] + (d_y) =X sin (%) respectively are :

dx?2 dx X
(a) 2,2 by 1,3
(c) 2,3 (d) 2, degree not defined

A A
A unit vector along the vector 4i — 3k is:

(a) %(4? _3k)

(b) %(4? _3k)

(©) %(4? _3k)
@ Lai—3k)
J5
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13.

14.

15.

16.

17.

o
IN
D
IA

ARy afel o M b F AT F U0, WM a . b >0 ad a9 A, 5 ;
T T
(a) O<6<§ (b) 2
T

()
IN
D
IA

(c) 0<0<m (d)

%Ig(p, q, r) I y-\'ﬂaﬁ@% :
(@ q (b) |q

© lql +|r| @ p?+r?

AR 3x + 5y <7 T & L= B :
(a) @1 3x + by = 7T TEa forgati 1 BIgsht IW W xy-ad
(b) %@T3x+5y=7mﬁ%ﬁgﬁ%W$WXy-W

(¢ @ 3x + by = 7 W o foigati 1 Blea a8 ga omen aa fored
qoi-forg oft 2 |
(d) 8 gaT el 9 s qa-fog T8l 2 |

ffafed # 8 SF-A1 fog e qH1 STEHeRsTl Sl Jgee HLd @ ?
2x +y<10dAT x + 2y > 8

(@ (-2,4) b (3,2
(© (~5,6) d 4,2
o v v & e (1, 1 1) 4,

(a) O<ax<l1 (b) a>2

(¢ a>0 (d a=++3
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- - -> >
13. If 0 is the angle between two vectors a and b, then a . b >0 only

when :
T T
0<6<— b) 0<6<-—
(a) <0<g (b) 5
(c) 0<0<m (d 0<6<nmn
14. Distance of the point (p, q, r) from y-axis is :
(@A q (b)  |q
©  lal +r] @ p®+r?

15. The solution set of the inequation 3x + 5y < 7 is :
(a)  whole xy-plane except the points lying on the line 3x + 5y = 7.
(b)  whole xy-plane along with the points lying on the line 3x + 5y = 7.

(c) open half plane containing the origin except the points of line
3x + by =17.

(d)  open half plane not containing the origin.

16. Which of the following points satisfies both the inequations 2x + y < 10

and x + 2y >8 ?

(a) (=2,4) (b) (3,2)
(c) (-5,6) d 4,2
. . . . 1 1 1
17. If the direction cosines of a line are (—, =, —j , then :
a a a
(a) O<ax<l1 (b) a>2
© a>0 d a=%3

65/4/1 ~~~~ Page 9 P.T.O.



18. A% T Sie &t ITirehdl % B, Sdfeh B T i shl JTrehdl %%’ | T &

qeY ! IdTd I 39 T o TR el e 23 A IilResar @ -
e
20
3
20

(a) (b)

(c) (d)

Ol O =

I G&IT 19 3K 20 yFYT Uq a@ SGIRT I & SR IAF T FT 1 HF
8 1 5 #7137 7Y & ford g @1 S7fsme (A) @91 G F 7% (R) GRT S7fad 13 o7
& | 57 J991 & &gl I 714 157 T Figl (a), (b), (c) 3R (d) F & g7 G |

(a) 3AMHAT (A) 3R @b (R) ST T& 3 IR b (R), AR (A) T T&l
ST T 2 |

(b)  IHHA (A) 3R Tk (R) GHI Hal 7, Tg b (R), JANHAT (A) 1 Fal
AT TET hdl § |

(c) AR (A) TEl g a1 T (R) Teid @ |
(@)  30eRYE (A) TeTd & 9T 9 (R) @8 2 |

19. 37y (A): At HRITHdT BoHl o 99 9T § kA B @ |
@b (R) : tan—1 x & fohtft x € R & TOTC SYespm o1 AT 2 |

B > 5> o . .
20. FBIT(A): W r = a;+ib; A r = ag + pby TER dddq @, &
> o

o
—
o
%)
1
o
My =

. —> —> —> —> e —>
6’6";‘(R) W@r =a1+kb1694Tr =a2+ub2 %ﬁaﬁ%r?ﬂ?ﬁme,
- —>
b, .b,
cos O =——— TR 9 B |
by 1B |
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18. The probability that A speaks the truth is % and that of B speaking the

truth is % The probability that they contradict each other in stating the

same fact is :
e
20
3
20

(a) (b)

(c) (d)

Ol Ot =

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled Assertion (A) and the other
labelled Reason (R). Select the correct answer from the codes (a), (b), (c) and (d)
as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

19. Assertion (A) : All trigonometric functions have their inverses over their

respective domains.

Reason (R): The inverse of tan—! x exists for some x € R.

_ ) - - — - - —
20. Assertion (A): The lines r = aj+ Ab; and r = a9+ pby are

. > o
perpendicular, when by . by =0.

> > -
Reason (R): The angle 6 between the lines r =aj;+2ib; and
- o
e b, . b,
r =ag+ by isgiven by cos 0 =———
by 11D, |

65/4/1 ~~~~ Page 11 P.T.O.



LCLCRC|
39 GUg 4 37fq Tg-F0F (VSA) FBR & T97 8, o780 J9%b & 2 3% & |

21. (%) y=sin"1(x2-4)FH I 7@ HIT |
AT

(@) ¥  F1d I
cos™! [cos (— 7—71]]
3
22. qﬁ(x2+y2)2=xy%,?ﬁj—yﬁﬁﬁﬁﬂl
X
23.  f(x) =5 + sin 2x GNI 9GA %o o ATIhdH d JJad T AT HIMT |

24. Zr%aﬁsr?+§+ﬁwaﬁsrp?+§—21§qur%tr%%,?ﬁpw/%m=r

T HIfY |
25. (%) fog (2, 1, 3) W B WM ouc«ﬂa?ni'@nﬁxllzygzzzgig;
2 =YL i 3 e o Y v A w9 i )

HAYAT

(@) Th W@ o TR0 5x — 3 =15y + 7=3 - 10z 2 | 39 W1 &
fasp-hiams fTRau qem 36 X foua s forg o fgemes 3ma N |
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. (a) Find the domain of y = sin™! (x2 — 4).

OR
(b) Evaluate :

o)

22. If(x2+ y2)2 = xy, then find g—y .
X

23. Find the maximum and minimum values of the function given by

f(x) = 5 + sin 2x.

.. A A A A A AL
24, If the projection of the vector i + j + k on the vector pi + j —2k is 3

then find the value(s) of p.

25. (a) Find the vector equation of the line passing through the point
(2, 1, 3) and perpendicular to both the lines

x-1 y-2 z-3 x
1 2 3 7 -3
OR
(b)  The equations of a line are 5x — 3 = 15y + 7 = 3 — 10z. Write the

direction cosines of the line and find the coordinates of a point

y_z
2 5

through which it passes.

65/4/1 ~~~~ Page 13 P.T.O.



QWU T
57 GV H &TY-3F70F (SA) TR & F97 8, 578 % & 3 3% & |
26. 1A hIFT :

x2+x+1 <
(X+1)2 (x+2)

27. (%) WM QI ;

n/2

02X (l—sm 2Xj dx
1—cos 2x

n/4

reran
(@) ¥ 3| Hife

2

[
1+5%

-2

3Ta <hifsre
X
J. c dx
\/5 — 4e¥ %X
AAAT

(@) ¥ 3| Hife
/2

J'\/sin x cos® x dx
0

28. (h)

29. (%) Fashel THIRL ‘;—Z:X;y, y(1) = 0 =1 fafirse gat 7@ Hifve |

srerat
(@) 3Tahd THIRUT eX tan y dx + (1 — eX) sec2 y dy = 0 %1 Uh BA T

i |
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This section comprises short answer (SA) type questions of 3 marks each.

26.

27.

28.

29.

65/4/1

Find :

(a)

(b)

(a)

(b)

(a)

(b)

SECTION C

J' X2 +x+1
5 dx
(x + 1) (x + 2)
Evaluate :
n/2
o2 (1 —sin 2Xj dx
1—cos 2x
n/4
OR
Evaluate :
2
Je
1+5%
-2
Find :
X
J ° dx
\/ 5—4eX — 2%
OR
Evaluate :
n/2
j\/sin x cos® x dx
0
Find the particular solution of the differential equation
dy _x+y , y(1) = 0.
dx
OR

Find the general solution of the differential equation
eXtan y dx + (1 — %) sec? y dy = 0.

~ N~ Page 15
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30. f=fofaa s T o & eE g g IR
U X + 2y <8,
3x + 2y < 12,
X,y20
% AW 2 = — 3x + 4y BT JAGH I 1 T |

31. 30 Sl &l Tk <l § ¥, ¥ 6 Scd @UE 7, 2 Fodi &l Th T A1geadl
Teh-Ush hich LTI Higd Hertall T | WU Sodi shl H&IT T UTRIhdT s
A ShifSTE, 37d: @S sosl shl G&AT Sl HIET T shiTaT |

Qs g
34 GUS 7 3509 (LA) IHR & J97 &, 977 I35 & 5 3% 3 /
1 -1 2
32. WA=[O 2 —3 | % gohH TIA HIWW | Fohd Al & T 4,
3 -2 4

Maes oo b x —y + 22=1; 2y — 32 =1;3x — 2y + 4z = 3 &l &A
Hif |

33. THTHAT % YENT U, Waed y2 = 4ax d97 39 A0 & R &9 &1 8%
F1d I |

34. (%) 3 N, @t Wb F&ATST o TH= hl MG FLa1 8 91 N x NH T
Y R, 39 TR IRATNG 8 T (a, b) R (¢, d), @ ad(b + ¢) = be(a + d).

gnse foh R U goddr §9Y 3 |
3T
(@) II'F!Tf:]R—{—é}—)]R,f(X)= X owr gfnfi wh wem § | gutse
3 3x +4

Tor U Tehehl w7 | I8 Wi ST= IS foh £ Uk 3T=sicsh o & A1
& |
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30. Solve the following linear programming problem graphically :
Minimise : z = — 3x + 4y
subject to the constraints

X + 2y <8,
3x + 2y < 12,
x,y2>0.

31. From a lot of 30 bulbs which include 6 defective bulbs, a sample of
2 bulbs is drawn at random one by one with replacement. Find the
probability distribution of the number of defective bulbs and hence find
the mean number of defective bulbs.

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

1 -1 2
32. Find the inverse of the matrix A=|0 2 -3 |. Using the inverse,
3 -2 4

A_l, solve the system of linear equations

x—y+2z=1; 2y—-3z=1; 3x—2y+ 4z =3.
33. Using integration, find the area of the region bounded by the parabola
y2 = 4ax and its latus rectum.

34. (a) If N denotes the set of all natural numbers and R is the relation on
N x N defined by (a, b) R (c, d), if ad(b + ¢) = be(a + d). Show that R

is an equivalence relation.

OR
b) Letf:R — {— f} s R be a function defined as f(x) = — =X Show
3 3x+4

that f is a one-one function. Also, check whether f is an onto

function or not.

65/4/1 ~~~~ Page 17 P.T.O.



35.

(%) izt for frefafiga Tand wwer gfaesd 7 2

x—1 y+1 z-1 x+2 y-1 z+1
3 2 5 4 3 -2

HAAT
(@) @Rl 2x =3y =—zTAT6x = —y = — 42 S I DIV AT HIWT |

Qs &

39 GUS H 3 YHT e STETRT J97 &, 977 Jedsb & 4 7% 3 |

36.

65/4/1

TR0 FAETAT - 1

HMT f(x) Teh dTEdfoieh I Tl %eAd & | dl SHehT

o T WE P FEFES (LHD.) : Lf'(a) = lim L2~ =@
h—0 —h

o ard ua P @A (RH.D.) : Rf(a) = lim L2+ = 1(@)
h—0 h

1Yy &, Th Bl f(x), x = a W FATha1T HEAdl 2 Ie x = a W 38 L.H.D.
3R R.H.D. &1 1feded 8 a4 g o0 7 |

|x-3|,x>1

% Toru frferfaa weat < 3@ i

(i)  flx)FTx = 1T C 98 I Agharsl (R.H.D.) 17 ?

(i) flx) T x = 1T §TC 987 T AGhersl (L.H.D.) T8 ?

(i) (%) S AT R T x = 1 W Fe f(x) FThaT 2 |
arera

(i) (@) £/(2) AT (- 1) TG HIT |

~ N~ Page 18



35. (a) Show that the following lines do not intersect each other :
x-1 y+1 z-1 x+2 y-1 z+1
3 2 5 4 3 -2

OR

(b)  Find the angle between the lines
2x=3y=—zand 6x =—y =—4z.

SECTION E
This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. Let f(x) be a real valued function. Then its

. Left Hand Derivative (L.H.D.) : Lf’(a) = lim f(a - h) - f(a)
h—0 -h
f(a + h) —f(a)

o Right Hand Derivative (R.H.D.) : Rf’(a) = lim
h—0 h
Also, a function f(x) is said to be differentiable at x = a if its L.H.D. and
R.H.D. at x = a exist and both are equal.
|x -3 |, x>1
For the function f(x)=<x2 3x 13

22222 %<1

4 2 4

answer the following questions :

(1) What is RH.D. of flx) atx=17? 1

(i1) WhatisLH.D.off(x)atx=17? 1

(ii1) (a) Check if the function f(x) is differentiable at x = 1. 2
OR

(1i1) (b) Find f(2) and f’(- 1). 2
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37.

65/4/1

ThT AEFIT - 2

Teh Had S Tl 3hel, Teh TATE W 4 A 99T Tkl &F 1 9 Adl & |
FSATA o I 98 § HTUhi % HMH T T 3T I hl TRIHAT 0-65 2 | 95d §

Hieni o 9 8 W W HE o THT W QU 8§ I hl WReRdT 0-35 7 | Tt
fTeni o HM T T T H1¥ T0I TG 8 <l TTRHAT 0-80 7 |

M : B : FEUd ST 8 38 91 Hl 6 95 § H{Hh HH W T3] A

E, : F&Ud st 8 98 9o 9 |t sfies w1 w1 3R

E : frefa s 2 T & ama @ g & S g |
Iuh AT & UR W, Feffad et % 3w i
() & &Rl o M W T hHT TTRERAT =T 7 ?
(i) PR HHI T YU Bl AW 1 TTHyehd1 1 2 ?
(i) (%) T T 2 foh R @9 W QU B T, A1 98 ° AR o hH T

T A < ITReRAT =T 7 ?
Jrera

(i) (@) feam g T SR TH W qU 7 =, a1 9 ARl Sk HH W
3ufedrd g <ht TTlrekar &= 8 2

~ N~ Page 20



Case Study - 2
37. A building contractor undertakes a job to construct 4 flats on a plot along
with parking area. Due to strike the probability of many construction
workers not being present for the job is 0-65. The probability that many
are not present and still the work gets completed on time is 0-35. The
probability that work will be completed on time when all workers are

present is 0-80.

Let: Ej : represent the event when many workers were not present for

the job;

Ey : represent the event when all workers were present; and

E : represent completing the construction work on time.
Based on the above information, answer the following questions :
(1) What is the probability that all the workers are present for the job ? 1
(ii))  What is the probability that construction will be completed on time ? 1

(iii) (a) What is the probability that many workers are not present

given that the construction work is completed on time ? 2

OR

(iii) (b) What is the probability that all workers were present given
that the construction job was completed on time ? 2
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ThIT AEFIT - 3

38. YIS o fUaT Tk i <l SR ol Teh AISS Tiohl, Teh HATIATHR SN SHHT IT8d o
foreht areht <9 @gel W AR i a8 T 9Ed 7 (S e ° o 2) |
3G T 1S o fow 200 Het 1 AR B |

I9YTh =1 o YR W, Ffcfgd we=1 o 3T N

(i) T S H 3¢ h PaR b dddq d18e hl @eg K HeX g a1 3¢ h
TR & FHIR G158 sl da1g ‘¢’ HX 8 | A o4 dTell dR Sl TS h1
T3 (WSY) 1A HIC A1 07 1 &aha A(x) W faRa |

(i)  A(x) T 3feerdd A JTd hIfoT |
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Case Study -3

38. Sooraj’s father wants to construct a rectangular garden using a brick wall
on one side of the garden and wire fencing for the other three sides as

shown in the figure. He has 200 metres of fencing wire.

Based on the above information, answer the following questions :

1) Let X* metres denote the length of the side of the garden
perpendicular to the brick wall and ‘y’ metres denote the length of
the side parallel to the brick wall. Determine the relation
representing the total length of fencing wire and also write A(x),

the area of the garden.

(11) Determine the maximum value of A(x).
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